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EMTGR 14-4-2011, answers on question 4

a) 12 C
13 Be
14 N
15 BN
16 150
17 170, (OH)
18 180, (H,0)
22 CO,
22.5 CO,
23 CO,
28 CO, (Ny)
29 CO, (Ny)
30 CO, (Ny)
32 0,
33 0,
34 0,
44 CO,
45 CO,
46 CO;,

m/e-numbers in bold should be given, N; and H,O not necessarily
H,0 and N are always present in high vacuum systems.

b)  besides CO'%0, C'70,, *C0'0 also °N,0, NPN0, N,'*0

c) The nuclei of *He and "H+?H don’t have exactly the same mass.
*He: 3,0219 amu
"I 3,0160 amu
The difference is ~ 0,2 %, they can be separately measured in a high
resolution magnetic mass spectrometer.



